EARAROBEEIERT — 2 N— IBISH —F

201556A8H (A) 3m)Iliz1H

Gl > %—#% C1X

‘ (%] 8 ‘ [EmmEl  — | 4 (%) 15000 &

[A&E£] 17 :1,200,000  ~ 23 :360,000 37&:216,000 3

4 75 144,000 B 5 3& :120,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N . REHRA :37. —4-2- X — NAREE (J11g)
117110 I\ﬁe/.b\./ﬂ./ H o4 & = 1(3_7)9 4-4-2-2 40.5 1 (4_924) i
R:HI5TLIF N BIUATAT7IF— N 45035
S - B Ak FH 5 :38. —0-3- . — FEAEE (GhFn)
A s FIBERELZ "B s | | M I -
RYYRG TR Bl SN T — tE |
= = # 6 | Al 1:38.3 6-6-5-4 | 40.0| — 8 495 | NAAZ (JI1)
3179 | V1>T177 54.0 (5¥) o) | IR
g ThI— B:T7—ENNFO INEER =
— 1L Iy R =+ : 77— = g2 (1)
4 WM 4 TIZU_|‘7'7 7 4 56.0 1'(3:?).9 e 02 ! ?_373; ﬁﬁgﬂg
L:77NTZT B:vaALTYaFt— e
. BHB :39. -11-11- . — SHKEF (1)
N - RIS TP o4 s 1(319)1 11-11-11-7 | 39.9 5 :1_53 o
RNAT ==L BiHd—E—XfFy b chE EE
s s . i o4 | BERER 1:39.2 5-5-4-5 |41.4| — 9 482 | DUEEEH— (J1116)
6 =l P 56.0 (172) s | BN
RL:h>iXZ— B:E2T7N—FZ— =k e
TR TV aATaTTI f 5 | Rk 1:(329>.6 1-1-1-1 | 436 — | 2 | 431 i?—é; (i)
L HIRG TR B kv b O | st
PN S S o8 | BAEHK 1:40.1 12-12-11-9 | 40.6 | — 10 | 480 |EE—% (@f)
s A 2 XTIV .0 (2 1/2) 0 JHB=
R:Tv TRy b B:vAILRZXT AL FRBE%S
o oo FREER 140, —-3-6- . — HEH— (1)
gl1l1| by T1-2 6 z 1(420)5 3-3-6-7 | 42.3 6 :1_837) e
LA bk—b BiT—FTlU— A —8l
N # 5 | EEX 1:40.6 9-9-8-10 |41.7 | — 11 482 | EEHES (EH)
10/5/6 | T7RT N 56.0 (4 €) (-7) | HEES
RA—JXA A, BITF45A Rt e
S LA S o4 | HEEH 1:40.6 10-10-9-12 | 41.5 | — 12 | 488 |HHIEX (@f)
1118 |11 747\}[///7\ 56.0 (74=) -3) SHES
Z:arFaay b BivAxdigr AXETa—T7—LA
-2 4 6 | BB 1:40.8 7-8-9-11 |41.8| — 7 467 | BTHEE (A15)
12( 8112 —/JTJ2TxI 56.0 (ol o $#§Z?E% A
R:V2RKYJUZXIR H#:FKZ N E%5%
@ 1—F—@&BIEf
13=zr= 7,8,1,10,5,9, (4,12),6,11,3,2
Aol=5r= 7,8,1,10,5,9,4,12,6,11,3,2
33—+— |7,10,8,5,9,1,4,6,(11,12),(2,3)
40 —F— 7,(8,10),9,5,4,(1,3),2,6,12,11
[ RN
B OB 10 300 714K 8-10 480M e & 6-7 350M &R 8-9-10 3,770
8 B 10 150 9-10 850M B 7-6 560/ JEH 10-8-9 13,260M
8 150/ 8-9 1,340H B E 8-10 940M
9 310 B H 10-8 1,900MH

ABICOVWTRDTEEERROODE. TR LIV,




